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Mr. Schlansky Algebra I1

Second Degree Trig Equations

1. In the interval 0°< 9 <360°, find to the nearest degree all values of 9 that satisfy the
equation tan’ $—Stan 9+ 6 =0

2. Find all values of 0 in the interval 0° < <360° that satisfy the equation sin> $—1=0

3. In the interval 0°< 9 <360°, find to the nearest degree all values of 9 that satisfy the
equation sec’ @—5secd=—6.



4. Find, to the nearest degree, all values of 0 in the interval 0° <6 <360° that satisfy the
equation 8cos’0 —2cos0—1=0.

5. Which values of x in the interval 0% £ x < 360° satisfy the equation 2sin’x + sinx— 1 = 07

6. In the interval 0°< .9 <360°, find to the nearest degree all values of 9 that satisfy the
equation sinfd=3cscH+2.



